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N.B: (l; All questicrns are r:ompulsory.

12) Irigures to the right indicate rnarks
(3) ItrJuslrations, in-depth answers and r.liagrams
(4 ) \4ix ing ot'snb-queslilrns is not alLrii rel.

Ql Atterrrpt the lirlloning (anl 'I ilRF,E):
(A)
(8, Explain the Java Servlet Arc

State and explain any five methtxls
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Number N is acceptcd
(F) Write a progranr lvlrich
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What are Llookies'l tlxplain hou,
Write a Servlet program to
Write a Servler fi1e u,hich rvr
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ancl enterprisc jala beans
Bean.

session beans rind sti;lriess session trcals.
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T't t t{ FrL);
iA X-WS end poinr,' implemr:ntarior.r

tlter u:ies oi'"!AX-WS
to build a Web Servi,;e, using jAX-WS

method that accepts a number n and rehrrns thr, value of

methoel rhat accepts a number n and returns the value of

which '',vill return factorial of a numher passeel to it.
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Q5. Attempt the following (any THREE):
(A) Explain Life Cycle of Setvlet.
(B) Write a short note on HttpSession.
(C) Write a short note on JSP Access Model
(D) Write a short note on JSP include
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